EETHER X F /IR 2-62
BAREIL T S1T

Boa i &

HIT-Z-R
1)
[/
T
: @ head
| —
(2) i (3)
N1 : S
L d2 L lht w
di S
(1) ALk [BA4L : mm]
Fll:ll:l % Q Q»Helix d
HIT-Z-R M8 X 80 80 50 9.25
HIT-Z-R M8 X 100 100 50 9.25
HIT-Z-R M8 x 120 120 50 9.25
HIT-Z-R M10 x 95 95 60 11.25
HIT-Z-R M10 x 115 115 60 11.25
HIT-Z-R M10 x 135 135 60 11.25
HIT-Z-R M10 x 160 160 60 11.25




(1) RILE [BE6Z: mm)]
A 2 Lhelix d
HIT-Z-R M12 x 105 105 60 13.25
HIT-Z-R M12 x 140 140 60 13.25
HIT-Z-R M12 x 155 155 60 13.25
HIT-Z-R M12 x 196 196 60 13.25
HIT-Z-R M16 x 155 155 96 17.25
HIT-Z-R M16 x 175 175 96 17.25
HIT-Z-R M16 x 205 205 96 17.25
HIT-Z-R M16 x 240 240 96 17.25
HIT-Z-R M20 x 215 215 100 21.09
HIT-Z-R M20 x 250 250 100 21.09
(2)~@@) Tviv—-Fvk [B4I:mm
(2) FEIvrv— (©)Iav:balls
U DIN 125 DIN 934
VAR S N & E = 1] Bz
d7 dz h7 S \W
M8 16.0 8.4 1.6 13.0 6.5
M10 20.0 10.5 2.0 17.0 8.0
M12 24.0 13.0 2.5 19.0 10.0
M16 30.0 17.0 3.0 24.0 13.0
M20 37.0 21.0 3.0 30.0 16.0

2015.2




